T2 8L

=g 14 24 34
A HIL 16 15 15
JE A 16 12 18
=yl 6 9 17
s 6 9 14
g 6 8 7
G b ik 7 2 9
% HA 0 2 3
i W 8 5 4
E 9 11 13
) 5 10 6
/MR 23 21 13
i) 17 10 15
B 0 0 0
EIR 14 5 15
2 3 9 11
i B 4 3 5
= P I 75 0 0 0
i Kid 0 1 0
Re 0 1 0
ey 5 6 6
sk 1 1 1
£ T 0 0 0
) e 6 6 4
i Rl 2 3 2
PR 9 10 11

H B W2 1 N3 H28. 5. 1H(E
—HEIRNZTR L HE SR
eER A 14 24 34

KE 6 6 7
=) 3 7 1
JH 0 0 0
IS 0 0 10
g s 0 0 0
il R 5 11 0
3l 13 6 23
HE 6 8 7
W 0 1 0
o 8 6 7
eSS 3 5 9
% B 21 15 11
£ B0 0 1 0
i wFn 0 2 1
= 3 1 4
[Bmy 0 1 2
e FH 3 1 1

A
Eﬁi X 3 1 0
i HHER 0 3 1
B 3 1 3
[i] 0 2 2
HET 1 2 0
B4t 0 0 1

7 241 239 279




